Area Formulas
Rectangles and Parallelograms

Given a parallelogram:  it can be transformed into a rectangle by constructing a perpendicular segment any where between the two parallel sides and translating the piece to the end of the parallelogram.
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Therefore the area formulas for both the parallelogram and rectangle are the same.

Area = (base)(height)
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When AD or BC are the bases then

When AB or CD are the bases then


BE is the height




AE is the height
Triangle

Any triangle can be transformed into a parallelogram by taking the midpoint of one side as the center of rotation and rotating the figure 180 degrees.
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Since two triangles of equal measure make up the parallelogram, the area of one triangle is:

Area△ = 
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(base)(height)
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Note:  For any triangle, any side can be the base and then there is a different corresponding height for that base.
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When AC is the base

When AC



When CB
Then BD is the height

Then BF is the height

Then AE is the height

Trapezoid

Any trapezoid can be transformed into a parallelogram by taking the midpoint of one of the non parallel sides as the center of rotation and rotating the figure 180 degrees.
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The base of the new parallelogram is AB + CD and the height is the same as the original trapezoid.  Since the new parallelogram contains the area of two trapezoids,
The area of a trapezoid is:


Area = 
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(sum of the bases)(height)
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